
INVENTRONICS DRIVER DATA

INTRODUCTION & WARRANTY
Thank you for selecting and buying V-TAC product. V-TAC will serve you the best. Please read these 
instructions carefully before starting the installation and keep this manual handy for future refer-
ence. If you have any another query, please contact our dealer or local vendor from whom you have 
purchased the product. They are trained and ready to serve you at the best. The warranty is valid 
for 5 years from the date of purchase. The warranty does not apply to damage caused by incorrect 
installation or abnormal wear and tear. The company gives no warranty against damage to any 
surface due to incorrect removal and installation of the product. The products are suitable for 10-12 
Hours Daily operation. Usage of product for 24 Hours a day would void the warranty. This product is 
warranted for manufacturing defects only.

5 Y
E
A
R
S

WARRANTY*

In case of any query/issue with the product, please reach out to us at: support@v-tac.eu For More products range, inquiry 
please contact our distributor or nearest dealers. V-TAC EUROPE LTD. Bulgaria, Plovdiv 4000, bul.L.Karavelow 9B

TECHNICAL DATA

135
lm/W

IP65
RATING10

9

41
8.

5

390

463

WARNING!

INSTALLATION DIAGRAM

1. Please make sure to turn off the power before starting the installation.
2. The light source of this luminaire is not replaceable, when the light source reaches its end 
of life the whole luminaire should be replaced.
3. Proper grounding should be ensured throughout the installation.
4. If the external flexible cable or cord of this luminaire is damaged, it shall be exclusively 
replaced by the manufacturer or his service agent or a similar qualified person in order to 
avoid a hazard.
5. Terminal block not included. Installation must be performed by a qualified electrician.

This marking indicates that this 
product should not be disposed 
of with other household wastes.

Caution, risk of electric shock.

Blue Y/G    Brown

Switch off the power before starting 
the installation.

Set the bracket on the garden light as 
shown in the above image. 

Use 4pcs M5 * 10 cross head screw and  
4pcs of M5 external serrated gasket to 
fix bracket plate on the bracket, but do 
not lock the screws.

The cable from the light body needs to 
be installed according to the angle of the 
bracket curve and through the threading 
hole to the bottom of the bracket. 

Use 2pcs of M4 * 6  
cross pan head screws 
with gasket and 2pcs 
of M4 external serrat-
ed gasket to fix the 
bracket, to prevent its 
rotation, and lock 4pcs 
of M5 screws from step 
3.

Using 8pcs M3*8 cross countersunk 
head screws to fix two bracket covers 
on the bracket.

Connect the wire as per the wiring 
diagram shown in the above image. 
Please ensure the electric power does 
not exceed beyond the required power 
as the circuit of the garden light is 
designed only for specific voltage. 

Install the streetlight on the pole using 
the hex wrench no.4 to tighten the 
bracket set screws. 

Switch on the power and test if the 
light is working properly

Threading 
Hole 

Bracket
Cover

Bracket plate

For Vertical installation 
rotate the bracket 90 
degrees downwards as 
shown in the image.

7 8

5 6

3 4

1 2

9

[FR] INTRODUCTION & GARANTIE
Merci d’avoir choisi et acheté un produit à V-TAC. V-TAC vous offrira le 
meilleur. Veuillez lire attentivement ces instructions avant de 
commencer l’installation et conservez ce manuel à portée de main pour 
référence ultérieure. Si vous avez d’autres questions, veuillez contacter 
notre distributeur ou le fournisseur local auprès duquel vous avez 
acheté le produit. Ils sont formés et prêts à vous servir au mieux. La 
garantie est valable pour une période de 5 ans à compter de la date 
d’achat. La garantie ne s’applique pas à des dommages causés par une 
installation incorrecte ou une usure anormale. La société ne donne 
aucune garantie pour des dommages causés à une surface en raison 
d’un enlèvement et d’une installation incorrects du produit. Les 
produits sont convenables pour une exploitation quotidienne de 10-12 
heures. L’utilisation du produit pendant 24 heures par jour annule la 
garantie. Ce produit est couvert par une garantie pour des défauts de 
fabrication seulement.

ATTENTION
• COUPER l’électricité avant de  commencer!
• Installation par électricien certifié

INSTRUCTION D'INSTALLATION
1. Mettez hors tension avant de commencer l'installation [Fig. 1].
2. Placez le support sur la lampe de jardin [Fig. 2].
3. Utilisez 4 vis à tête cruciforme M5 * 10 et 4 joints dentelés externes 
M5 pour fixer la plaque de support sur le support, mais ne bloquez pas 
les vis [Fig. 3].
4. Le câble du luminaire doit être installé selon l'angle de la courbe du 
support et à travers le trou fileté jusqu'au fond du support [Fig. 4]. 
5. Utilisez 2 vis à tête cylindrique cruciforme M4 * 6 avec joint et 2 
joints dentelés externes M4 pour fixer le support, afin d’empêcher sa 
rotation, et bloquez les 4 vis M5 de l'étape 3.
Pour une installation verticale, tournez le support de 90 degrés vers le 
bas [Fig 5].
6. En utilisant 8 vis à tête fraisée cruciforme M3*8 fixez les deux 
couvercles de support sur le support [Fig. 6].
7. Raccordez le fil conformément au schéma de câblage [Fig 7]. Veillez 
à ce que la puissance électrique ne dépasse pas la puissance requise 
car le circuit du luminaire de jardin est conçu uniquement pour une 
tension spécifique. 
8. Installez le lampadaire sur le poteau à l'aide de la clé hexagonale nº 
4 pour serrer les vis de fixation du support [Fig. 8]. 
9. Mettez sous tension et vérifiez si le luminaire fonctionne correcte-
ment [Fig. 9].

[DE] EINFÜHRUNG UND GEBRAUCHSANWEISUNG
Wir danken Ihnen, dass Sie ein V-TAC ausgesucht und gekauft haben. 
V-TAC wird Ihnen die besten Dienste erweisen. Lesen Sie, bitte, diese 
Gebrauchsanweisung vor der Montage aufmerksam durch und halten 
Sie sie für Auskünfte in der Zukunft parat. Sollten Sie weitere Fragen 
haben, kontaktieren Sie, bitte, unseren lokalen Händler oderVerkäufer, 
von dem Sie das Produkt gekauft haben. Sie sind ausgebildet und 
bereit Sie auf die bestmögliche Art und Weise zu unterstützen. Die 
Gewährleistungsfrist beträgt 5 Jahre ab dem Kaufdatum. Die 
Gewährleistung bezieht sich nicht auf Schäden, die durch unsach-
gemäße Montage oder ungewöhnliche Abnutzung und Verschleiß 
verursacht worden sind. Das Unternehmen gewährt keine Garantie für 
durch unsachgemäßen Produktabbau oder unsachgemäße Montage 
entstandene Schäden an jeglichen Oberflächen. Die Produkte sind für 
eine Nutzung von bis zu 10-12 Stunden täglich geeignet. Eine 
tägliche, 24-stündige Nutzung schließt die Gewährleistung aus. Diese 
Gewährleistung gilt nur für Herstellungsmängel.

ACHTUNG
• Bevor Sie beginnen, schalten Sie den Strom aus!
• Installation nur von Elektrofachkräften

INSTALLATIONSANFORDERUNGEN/ ANLEITUNG
1. Schalten Sie die Stromversorgung aus, bevor Sie mit der Installa-
tion beginnen [Abb. 1].
2. Setzen Sie die Halterung auf die Gartenleuchte [Abb. 2].
3. Verwenden Sie eine 4 Stk. Kreuzschlitzschrauben M5 * 10 und 4 
Stk. Außenverzahnungsdichtungen M5, um die Halterungsplatte an 
der Halterung zu befestigen, aber ziehen Sie die Schrauben nicht fest 
[Abb. 3].
4. Das Kabel vom Leuchtenkörper muss entsprechend dem Winkel der 
Halterungskurve und durch die Gewindebohrung zur Unterseite der 
Halterung verlegt werden [Abb. 4]. 
5. Verwenden Sie 2 Stk. Kreuzschlitzschrauben M4 * 6 mit Dichtung 
und 2 Stk. Außenverzahnungsdichtungen M4, um die Halterung zu 
befestigen und um ihre Drehung zu verhindern, und sichern Sie 4 Stk. 
M5-Schrauben aus Schritt 3.
Bei vertikaler Installation drehen Sie die Halterung um 90 Grad nach 
unten [Abb. 5].
6. Befestigen Sie zwei Halterungsabdeckungen mit 8 Stk. M3 * 8 
Kreuzschlitzschrauben an der Halterung [Abb. 6].
7. Schließen Sie das Kabel gemäß dem Schaltplan an [Abb. 7]. Bitte 
achten Sie darauf, dass die elektrische Leistung die erforderliche 
Leistung nicht überschreitet, da der Stromkreis der Gartenleuchte nur 
für eine bestimmte Spannung ausgelegt ist [Abb. 7]. 
8. Befestigen Sie die Straßenlaterne an der Leiter und ziehen Sie die 
Halteschrauben der Halterung mit Sechskant Nr. 4 fest [Abb. 8]. 
9. Schalten Sie die Stromversorgung ein und prüfen Sie, ob die 
Leuchte ordnungsgemäß funktioniert [Abb. 9].

[HR] UVOD I JAMSTVO
Hvala vam, što ste odabrali i kupili tvrtke Vi-Tek (V-TAC). Vi-Tek 
(V-TAC) će vam poslužiti na najbolji mogući način. Molimo, pažljivo 
pročitajte ove upute prije instalacije i spremite upute za buduću 
uporabu. Ako imate dodatnih pitanja, molimo obratite se našempro-
davaču ili lokalnom trgovcu gdje ste kupili ovaj proizvod. Oni su 
osposobljeni i spremni vam pomognu na najbolji način. Jamstvo za 
ovaj proizvod vrijedi za razdoblje od 5 godine, računajući od dana 
kupnje. Jamstvo se ne odnosi na štetu, nastalu nepravilnom 
ugradnjom ili neuobičajenim habanjem. Tvrtka ne jamči za štete koje 
nastanu po bilo kojoj površini proizvoda, zbog nepravilne demontaže 
odnosno i ugradnje proizvoda. Ovi proizvodi su prikladni za 10-12 
sati rada dnevno. Uporaba proizvod 24 sata dnevno čini ovo jamstvo 
nevažeće. Jamstvo za ovaj proizvod dano je samo za nedostatke koji 
su nastali samo tijekom njegove proizvodnje.

OPREZ 
• ISKLJUČITE struju prije nego što počnete ugradnju!
• Ugradnju može obaviti samo stručni električar

UPUTE ZA UGRADNJU
1. Prije početka ugradnje prvo isključite strujno napajanje [Slika 1].
2. Postavite nosač rasvjetnog tijela za vanjsku upotrebu u vrtu  
[Slika 2].
3. Pričvrstite ploču nosača na sami nosač  pomoću  4 kom. vijaka sa 
križnom glavom  M5 * 10 i 4 kom. brtve M5 s vanjskim urezima, ali 
nemojte suviše pritezati vijke [Slika 3].
4. Montirajte kabel iz rasvijetnog tijela sukladno kutu zavoja nosača, 
tako što ćete ga progurati kroz rupu sa navojem, koja se nalazi na 
dnu nosača [Slika 4].
5. Učvrstite nosač pomoću 2 vijka sa cilindričnom iglavom i križnim 
utorom M4 * 6 s brtvom i 2 brtve sa vanjskim urezima M4, da se 
spriječili okretanje, i zatim zategnite četiri vijka M5 iz  opisa pod t.3.
Kod vertikalnog montiranja, zakrenite držač za 90 stupnjeva prema 
dolje [Slika 5].
6. Učvrstite dva poklopca držača na samom držaču uz pomoć 8 
vijaka sa  upuštenom glavom s križnim utorom M3*8 [Slika 6].
7. Spojite kabel prema shemi ožičenja [Slika 7]. Provjerite, da strujni 
napon nije veći od zahtijevanog napona, jer je strujno krug vrtne 
rasvjete namijenjen za uporabu sa posebnim naponom.
8. Montirajte uličnu svjetiljku na stub i pričvrstite pričvrsne vijke na 
nosaču, pomoću šesterokuta broj 4 [Slika 8].
9. Uključite napajanje i provjerite dali svjetiljka funkcionira ispravno 
[Slika 9].

[PT] INTRODUÇÃO E GARANTIA
Agradecemos que escolheu e adquiriu o produto da V-TAC. A V-TAC 
irá servir-lhe da melhor maneira possível. Por favor, leia atentam-
ente estas instruções antes da instalação e mantenha este manual 
para referência no futuro. Se tiver outras dúvidas, entre em 
contacto com o nosso revendedor ou comerciante local de quem 
adquiriu o produto. Eles são formados e estão prontos para lhe 
serem úteis da melhor maneira possível. A garantia é válida por um 
período de 5 anos a partir da data de compra. A garantia não se 
aplica a danos causados devido a uma instalação incorrecta ou 
desgaste invulgar. A empresa não dá nenhuma garantia por danos 
de qualquer superfície devido à inadequada remoção e instalação do 
produto. Os produtos são apropriados para exploração durante 
10-12 horas por dia. A exploração do produto durante 24 horas leva 
à invalidação da garantia. Este produto tem uma garantia apenas 
para defeitos de fabricação.

ATENÇÃO
• DESLIGAR a alimentação antes de iniciar!
• A instalação só pode ser feita por electricista autorizado. 

INSTRUÇÕES DE INSTALAÇÃO
1. Desligue a energia antes de iniciar a instalação [Figura 1].
2. Coloque o suporte da iluminação de jardim [Figura 2].
3. Fixe a placa do suporte no próprio suporte ao usar 4 parafusos de 
cabeça cruzada M5*10 e 4 vedações ranhuradas externamente M5, 
mas não aperte os parafusos [Figura 3].
4. Instale o cabo da iluminação de acordo com o ângulo da curva do 
suporte, ao passá-lo pelo orifício ranhurado na parte inferior do 
suporte [Figura 4].
5. Prenda o suporte ao usar 2 parafusos de cabeça cilíndrica com 
ranhura cruzada M4*6 com vedação e 2 vedações ranhuradas 
externamente M4 para impedir que dê voltas e aperte os quatro 
parafusos M5 da etapa 3.
Em caso de montagem vertical, gire o suporte a 90º para baixo 
[Figura 5].
6. Prenda as duas tampas do suporte no próprio suporte com a 
ajuda de 8 parafusos de cabeça articulada com ranhura cruzada 
M3*8 [Figura 6].
7. Conecte o cabo de acordo com o diagrama de fiação [Figura 7]. 
Certifique-se de que a tensão de alimentação não seja maior que a 
necessária, pois o circuito de iluminação do jardim foi projetado 
para lidar com tensões especiais.
8. Instale a iluminação de rua no poste e aperte os parafusos de 
retenção no suporte ao usar a chave allen n.º 4 [Figura 8].
9. Ligue a energia e verifique se a iluminação está a funcionar 
corretamente [Figura 9].

[ES] INTRODUCCIÓN Y GARANTÍA
Le agradecemos que ha elegido y adquirido la V-TAC. V-TAC le 
servirá del mejor modo posible. Pedimos que antes de comenzar la 
instalación lea atentamente las presentes instrucciones y las guarde 
en un lugar adecuado para consultas próximas. En caso de dudas o 
preguntas, póngase, por favor, en contacto con el representante o 
suministrador más cercano de quien ha comprado el producto. Él 
será debidamente instruido y dispuesto para atenderle de la mejor 
manera posible. La garantía tendrá una duración de 5 años, 
contados a partir de la fecha de la compra. La garantía no será 
aplicable a daños ocasionados por instalación incorrecta o gasto 
inhabitual. La empresa no otorgará garantía para daños de 
superficies de cualquier tipo generados por su eliminación e 
instalación incorrectas. Los productos tendrán explotación adecuada 
durante unas 10-12 horas diarias. La explotación de 24 horas 
diarias llevará a la anulación de la garantía. La garantía cubrirá solo 
defectos de producción de fábrica.

CUIDADO
• IApague la electricidad antes de comenzar!
• Instalación solo por electricista certificado.

INSTRUCCIONES DE INSTALACION
1. Apague la alimentación antes de empezar la instalación [Fig 1].
2. Coloque el soporte de la iluminación de jardín [Fig2].
3. Fije la placa del soporte al soporte usando 4 tornillos de cabeza 
cruzada M5*10 y 4 sellos ranurados externamente M5, pero no 
apriete los tornillos [Fig 3].
4. Monte el cable de la iluminación de acuerdo con el ángulo de la 
curva del soporte, pasándolo a través del orificio roscado en la parte 
inferior del soporte [Fig 4].
5. Asegure el soporte con 2 tornillos de cabeza cilíndrica con ranura 
cruzada M4*6 con junta y 2 sellos ranurados externamente M4 para 
evitar que se gire y aprieta los cuatro tornillos M5 del paso 3. 
En caso de montaje vertical, gire el soporte a 90º hacia abajo [Fig 
5].
6. Fije las dos cubiertas del suporte en el suporte con la ayuda de 8 
tornillos de cabeza articulada con ranura cruzada M3*8 [Fig 6].
7. Conecte el cable de acuerdo con el diagrama de cableado [Fig 7]. 
Asegúrese de que el voltaje de alimentación no sea más alto de lo 
requerido, ya que el circuito de la iluminación de jardín está 
diseñado para trabajar con voltajes especiales.
8. Instale la farola en el poste y apriete los tornillos de fijación del 
soporte con la llave allen n. 4 [Fig 8].
9. Encienda la alimentación y compruebe que la iluminación 
funciona correctamente [Fig 9].

[HU] BEVEZETÉS ÉS GARANCIA
Köszönjük, hogy választotta és megvásárolta a V-TAC terméket. 
V-TAC nyújtja Önnek a legjobb szolgáltatást. Kérjük, a szerelés 
előtt figyelmesen olvassa el ezeket az utasításokat és óvja ezt a 
kézikönyvet későbbi használatra. Ha további kérdései vannak, 
kérjük, forduljon forgalmazójához vagy helyi eladójához, akitől 
megvásárolta a terméket. Ők képzettek és készek a legjobb 
szolgálatra. A jótállás a vásárlás napjától számítva 5 évig érvényes. 
A garancia nem vonatkozik a helytelen szerelés vagy az abnormális 
kopás okozta károkra. A cég nem vállal semmilyen garanciát a 
felület károsodásáért, a termék helytelen eltávolításáért és 
szereléséért. A termékek 10-12 órás napi üzemeltetésre alkalma-
sak. A termék napi 24 órás felhasználása érvényteleníti a garanciát. 
Ez a termék garanciája csak a gyártási hibákra vonatkozik.

FIGYELEM
• KAPCSOLJA KI a villamos e llátást a kezdet előtt!
• Csak szakképzett villanyszerelő szerelheti fel.

FELSZ ERELÉSI UTASÍTÁS
1. A telepítés megkezdése előtt kapcsolja ki a tápellátást [1. ábra].
2. Helyezze be a tartót a kerti lámpán [2. ábra].
3. Használjon 4 db M5 * 10 keresztfejű csavart és 4 db M5 külső 
fogazott tömítést a tartólemez rögzítéséhez a tartón, de ne húzza 
fel a csavarokat [3. ábra].
4. A lámpatestből származó kábelt a tartó görbéjének szöge szerint 
kell beszerelni és átmenjen a menetes furaton keresztül a tartó 
aljára [4. ábra]. 
5. Használjon 2db M4 * 6 keresztirányú fej csavart tömítéssel és 
2db M4 külső fogazott tömítést a tartó rögzítéséhez, annak 
elforgása elkerülése érdekében, és rögzítse a 3. lépésben szerepelt 
4db M5 csavarokat.
Függőleges telepítéshez forgassa el a tartót 90 fokkal lefelé [5. 
ábra].
6. A 8 db M3 * 8 keresztmetszetű, süllyesztett fejű csavarral 
rögzítse a konzol két tartófedelét [6. ábra].
7. Csatlakoztassa a vezetéket a huzalozási rajznak megfelelően [7. 
ábra]. Kérjük, ellenőrizze, hogy az elektromos teljesítmény nem 
haladja meg az előírt teljesítményt, mivel a kertvilágító áramköre 
csak meghatározott feszültségre van tervezve [7. ábra].
8. Helyezze be az utcai lámpát a pólusra a 4. számú imbuszkul-
ccsal, hogy meghúzza a tartókészlet csavarjait [8. ábra].
9. Kapcsolja be a tápellátást, és ellenőrizze, hogy a lámpa 
megfelelően működik-e [9. ábra].

[IT] INTRODUZIONE E GARANZIA
Grazie per aver scelto e acquistato il prodotto della V-TAC. La 
V-TAC Le servirà nel miglior modo possibile. Si prega di leggere 
attentamente queste istruzioni prima di iniziare l’installazione e di 
conservare questo manuale a portata di mano per riferimenti 
futuri. In caso di qualunque altra domanda si prega di contattare il 
nostro rivenditore o il distributore locale da chi è stato acquistato il 
prodotto. Loro sono addestrati e pronti a servirla nel miglior modo 
possibile. La garanzia è valida per 5 anni dalla data d’acquisto. La 
garanzia non si applica ai danni provocati dall’installazione errata o 
dall’usura anomala. L’azienda non fornisce alcuna garanzia per 
danni a qualsiasi superficie a causa della rimozione e dell’installazi-
one errata del prodotto. I prodotti sono adatti per 10-12 ore di 
funzionamento quotidiano. L’utilizzo del prodotto per 24 ore al 
giorno annulla la garanzia. La garanzia di questo prodotto è valida 
soltanto per difetti di fabbricazione.

ATTENZIONE
• Spegnere l'elettricità prima di iniziare!
• Installazione soltanto da parte di un elettricista certificato  

ISTRUZIONI PER L’INSTALLAZIONE
1. Disattivare l'alimentazione prima di iniziare l'installazione 
[Fig. 1].
2. Installare la staffa dell'apparecchio da giardino [Fig. 2].
3. Utilizzare le 4 viti a testa cilindrica con intaglio a croce M5 * 10 
e le 4 guarnizioni con dentatura esterna M5 per fissare la piastra 
della staffa alla staffa, ma non serrare le viti [Fig. 3].
4. Il cavo dell’apparecchio d’illuminazione deve essere installato in 
base all'angolo della curva della staffa, facendolo passare 
attraverso il foro filettato nella parte inferiore della staffa [Fig. 4].
5. Utilizzare le 2 viti a testa cilindrica con intaglio a croce M4 * 6 
con guarnizione e le 2 guarnizioni con dentatura esterna M4 per 
fissare la staffa, per impedirne la rotazione e serrare le 4 viti M5 
dal passo 3.
Per l'installazione verticale, ruotare la staffa di 90 gradi verso il 
basso [Fig. 5].
6. Usando le 8 viti M3 * 8 a testa svasata con intaglio a croce per 
fissare i due coperchi della staffa sulla staffa [Fig. 6].
7. Collegare il cavo secondo lo schema elettrico [Fig. 7]. Assicurar-
si che la tensione di alimentazione non sia superiore a quella 
richiesta, poiché il circuito della apparecchio d’illuminazione da 
giardino è progettato soltanto per una tensione specifica.
8. Installare il lampione sul palo usando la chiave esagonale n. 4 
per serrare le viti di fissaggio della staffa [Fig. 8].
9. Attivare l'alimentazione e verificare se l'apparecchio funziona 
correttamente [Fig. 9].

[BG] ВЪВЕДЕНИЕ И ГАРАНЦИЯ
Благодарим ви, че избрахте и закупихте продукт на Ви-Тек 
(V-TAC).  Ви-Тек (V-TAC) ще ви послужи по най-добрия възможен 
начин. Моля прочетете тези инструкции внимателно преди 
инсталация и съхранявайте ръководството за бъдещи справки. 
Ако имате други въпроси, моля свържете се с нашия дилър или с 
местния търговец, от който сте закупили продукта. Те са обучени 
и са готови да ви послужат по най-добрия начин. Гаранцията е 
валидна за период от 5 години след датата на закупуване. 
Гаранцията не се прилага по отношение на щети, причинени 
поради неправилен монтаж или необичайно износване. 
Дружеството не предоставя гаранция срещу щети по каквато и да 
е повърхност поради неправилното отстраняване и монтаж на 
продукта. Продуктите са подходящи за 10-12 часа експлоатация 
на ден. Експлоатацията на продукт в продължение на 24 часа 
води до обезсилване на гаранцията. Гаранцията за този продукт 
се дава само за производствени дефекти.

ВНИМАНИЕ
• ИЗКЛЮЧЕТЕ електричеството преди да започнете!
• Инсталация само от сертифициран електротехник
  
ИНСТРУКЦИИ ЗА ИНСТАЛАЦИЯ
1. Преди да започнете монтажа, изключете захранването [Фиг 1].
2. Установете конзолата на градинското осветително тяло [Фиг 2].
3. Фиксирайте плочата на конзолата на самата конзола с помощта 
на 4 бр. винтове с кръстообразен шлиц в главата M5 * 10 и 4 бр. 
външно набраздени уплътнения M5, но не затягайте винтовете 
[Фиг 3].
4. Монтирайте кабела от осветителното тяло съобразно ъгъла на 
извивката на конзолата, като го прокарате през отвора с резба в 
долната част на конзолата [Фиг 4]. 
5. Фиксирайте конзолата с помощта на 2 бр. винтове с 
цилиндрична глава с кръстообразен шлиц M4 * 6 с уплътнение и 
2 бр. външно набраздени уплътнения M4, за да препятствате 
въртенето й и затегнете четирите винта M5 от етап 3.
При вертикален монтаж завъртете конзолата на 90 градуса в 
посока надолу [Фигура 5].
6. Фиксирайте двата капака на конзолата на самата конзола с 
помощта на 8 бр. винтове със скрита глава с кръстообразен шлиц 
M3*8 [Фиг 6].
7. Свържете проводника съгласно електрическата схема [Фигура 
7]. Уверете се, че захранващото напрежение не е по-високо от 
изискуемото, тъй като веригата на градинското осветително тяло 
е проектирана за работа със специално напрежение.
8. Монтирайте уличното осветително тяло на стълба и затегнете 
застопоряващите винтове на конзолата с помощта на шестограм 
№ 4 [Фиг 8].
9. Включете захранването и тествайте дали осветителното тяло 
работи изправно [Фиг 9]. [CZ] ÚVOD A ZÁRUKA

Děkujeme, že jste si vybrali a koupili výrobek firmy V-TEK (V-TAC). 
V-TEK (V-TAC) vám nabízí ty nejlepší výrobky. Před zahájením 
instalace si prosím pečlivě přečtěte tyto pokyny a uschovejte si 
tento návod pro budoucí použití. Pokud máte další dotazy, obraťte 
se na našeho prodejce nebo místního obchodního zástupce, od 
kterého jste výrobek zakoupili. Oni jsou vyškoleni a jsou vám k 
dispozici pro všechny vaše potřeby. Záruka je platná po dobu 5 let 
od data zakoupení. Záruka se nevztahuje na škody způsobené 
nesprávnou instalací nebo atypickým opotřebením. Společnost 
neposkytuje záruku na poškození na jakémkoli povrchu kvůli 
neodbornému odstranění a instalaci výrobku. Výrobky jsou vhodné 
pro 10-12 hodin každodenní využívaní. Používání výrobku během 24 
hodin denně ruší platnost záruky. Výrobek má záruku pouze pro 
výrobní vady.

POZOR
• VYPNĚTE elektřinu, než začnete!
• Instalaci smí provést pouze certifikovaný elektrikář

POKYNY K INSTALACI 
1. Před zahájením instalace vypněte napájení [obr. 1].
2. Namontujte držák zahradního svítidla [obr. 2].
3. Připevněte destičky držáku k držáku pomocí 4 ks křížový šroub 
M5 * 10 a 4 ks vnější ozubené těsnění M5, ale šrouby neutahujte 
[obr. 3]. 
4. Kabel namontujte ze svítidla podle úhlu ohybu držáku a 
protáhněte jej závitovým otvorem ve spodní části držáku [obr. 4].
5. Zajistěte držák pomocí 2 ks šrouby s válcovou hlavou s křížovou 
drážkou M4 * 6 s těsněním a 2 ks vnější ozubené těsnění M4, aby 
se zabránilo otáčení a dotáhněte čtyři šrouby M5 dle kroku 3.
Při svislé montáži otočte držák o 90 stupňů dolů [obr. 5].
6. K upevnění dvou krytů držáku na držáku použijte šrouby se 
křížovou zápustnou hlavou 8 ks M3 * 8 [obr. 6].
7. Připojte vodič podle schématu zapojení [obr. 7]. Ujistěte se, že 
napájecí napětí není vyšší, než je nutné, protože obvod zahradního 
osvětlení je je určen pouze pro specifické napětí.
8. Namontujte pouliční osvětlení na sloup pomocí šestihranného 
klíče č. 4, abyste utáhli nastavovací šrouby držáku [obr. 8].
9. Zapněte napájení a otestujte, zda svítidlo funguje správně [obr. 
9].

[EL] ΕΙΣΑΓΩΓΗ - ΕΓΓΥΗΣΗ
Σας ευχαριστούμε για το ότι επιλέξατε και αγοράσατε το προϊόν της  
Βι-ΤΑΚ(V-TAC).  Η Βι-ΤΑΚ (V-TAC) θα σας εξυπηρετήσει με τον 
καλύτερο δυνατό τρόπο. Παρακαλούμε να διαβάσετε προσεκτικά τις 
οδηγίες μας προτού τοποθετήσετε και διατηρήστε τις οδηγίες για τη 
μετέπειτα ενημέρωσή σας. Αν έχετε άλλα ερωτήματα και απορίες, 
παρακαλούμε να έλθετε σε επαφή με τον προμηθευτή μας ή με τον 
εγχώριο έμπορο από τον οποίο αγοράσατε το προϊόν. Αυτοί 
εκπαιδεύτηκαν κατάλληλα και είναι πρόθυμοι να σας εξυπηρετήσουν με 
τον καλύτερο τρόπο. Η εγγύηση ισχύει για περίοδο 5 ετών από την 
ημερομηνία της αγοράς. Η εγγύηση δεν εφαρμόζεται σε περίπτωση που 
προκληθούν ζημιές εξαιτίας λάθος τοποθέτησης ή ασυνήθιστης 
φθοράς. Η εταιρεία δεν παρέχει εγγύηση για ζημιές σε 
οποιαδήποτεεπιφάνεια εξαιτίας τις λάθος απομάκρυνσης ή τοποθέτησης 
του προϊόντος. Τα προϊόντα είναι κατάλληλα για χρήση 10-12 ωρών 
την ημέρα. Η χρήση του προϊόντος επί 24 ώρες έχει ως αποτέλεσμα 
την ακύρωση της εγγύησης. Η εγγύηση του προϊόντος αφορά μόνο τα 
ελαττώματα της παραγωγής.

ΠΡΟΣΟΧΗ
• ΚΛΕΙΣΤΕ την ηλεκτροδότηση προτού αρχίσετε!
• Τοποθέτηση μόνο από αδειούχο ηλεκτρολόγο.

ΟΔΗΓΙΕΣ ΓΙΑ ΤΗΝ ΤΟΠΟΘΕΤΗΣΗ
1. Απενεργοποιήστε την τροφοδοσία πριν ξεκινήσετε την εγκατάσταση 
[Εικόνα 1].
2. Τοποθετήστε την κονσόλα του φωτιστικού κήπου [Εικόνα 2].
3. Ασφαλίστε την πλάκα της κονσόλας στην ίδια κονσόλα 
χρησιμοποιώντας 4 τεμ. βίδες με σταυρόμορφη υποδοχή M5 * 10 και 4 
τεμ. Μ5 με εξωτερικά αυλακωμένα τσιμούχα, αλλά μην βιδώστε τις 
βίδες [Εικόνα 3].
4. Τοποθετήστε το καλώδιο από του φωτιστικού σώματος σύμφωνα με 
τη γωνία της καμπύλης της κονσόλας, περνώντας το μέσα από το 
άνοιγμα με σπείρωμα στο κάτω μέρος της κονσόλας [Εικόνα 4].
5. Ασφαλίστε την κονσόλα με 2 τεμ. κυλινδρικές βίδες με 
σταυρόμορφη υποδοχή M4 * 6 με τσιμούχο και 2 τεμ. εξωτερικά 
αυλακωμένα τσιμούχα M4 για να αποτρέψετε την περιστροφή της και 
βιδώστε τις τέσσερις βίδες M5 από το βήμα 3.
Σε περίπτωση κάθετης εγκατάστασης, περιστρέψτε την κονσόλα κατά 
90 μοίρες προς τα κάτω [Εικόνα 5].
6. Ασφαλίστε τα δύο καλύμματα της κονσόλας στην ίδια την κονσόλα 
με τη βοήθεια 8 τεμ. βίδες με κρυμμένη κεφαλή με σταυρλομορφη 
υποδοχή M3 * 8 [Εικόνα 6].
7. Συνδέστε το καλώδιο σύμφωνα με το ηλεκτρικό διάγραμμα [Εικόνα 
7]. Βεβαιωθείτε ότι η τάση τροφοδοσίας δεν είναι υψηλότερη από την 
απαιτούμενη, καθώς το κύκλωμα του φωτιστικού κήπου έχει σχεδιαστεί 
για λειτουργία με ειδική τάση.  
8. Τοποθετήστε το εξωτερικό φωτιστικό σώμα στον πόλο και βιδώστε 
τις βίδες της κονσόλας χρησιμοποιώντας εξάγωνο 4 [Εικόνα 8].
9. Ενεργοποιήστε την τροφοδοσία και ελέγξτε εάν το φωτιστικό 
λειτουργεί σωστά [Εικόνα 9]. 

[RO] INTRODUCERE, GARANŢIA
Vă mulţumim că aţi ales şi v-aţi cumpărat acest produs de V-TAC. 
V-TAC vă va fi de un mare folos, utilizându-l în modul cel mai 
potrivit posibil. Vă rugăm să citiţi .aceste instrucţiuni cu atenţie, 
înainte să începeţi instalarea, şi păstraţi-le pentru că s-ar putea să 
fie necesar să le recitiţi. Dacă aveţi şi alte întrebări, luaţi legătură cu 
dealer-ul nostru sau cu comerciantul de la care v-aţi achiziţionat 
produsul. Aceştia sunt bine instruiţi şi întotdeauna sunt disponibili 
să vă servească în modul cel mai bun posibil. Garanţia este valabilă 
pe un termen  de 5 ani din data achiziţionării produsului. Garanţia 
însă  nu se aplică cu privire la daunele cauzate de instalare 
incorectă sau care rezultă din uzura  anormală de utilizare. 
Societatea nu acordă garanţie pentru daune produse pe suprafeţe,  
indiferent de tipul acestora, care se datorează îndepărtării sau 
montării incorecte a produsului. Aceste produse sunt potrivite 
pentru exploatare continuă timp de 10-12 ore pe zi. Exploatarea 
produsului timp de 24 de ore fără întrerupere, poate duce la 
pierderea garanţiei.  Pentru acest produs, garanţia se acordă numai 
pentru defecte de fabricaţie.

ATENŢIE
• DECONECTAŢI alimentarea cu energie electrică înainte să începeţi 
instalarea!
• Instalarea se va realiza numai de către un electrician autorizat.

INSTRUCŢIUNI DE INSTALARE
1. Opriți alimentarea înainte de a începe instalarea [Fig 1].
2. Montați suportul pentru corpurile de iluminat de grădină [Fig 2].
3. Fixați placa consolei pe consolă folosind 4 șuruburi cu capul în 
formă de cruce M5 * 10 și 4 garnituri M5 cu caneluri exterioare, dar 
nu strângeți șuruburile [Fig 3].
4. Montați cablul din corpul de iluminat în funcție de unghiul de 
îndoire a suportului, trecându-l prin orificiul filetat din partea 
inferioară a suportului [Fig 4]. 
5. Fixați suportul folosind 2 șuruburi cu cap cilindric cu capul în 
forma de cruce M4 * 6 cu garnitură și 2 garnituri M4 cu caneluri 
exterioare pentru a împiedica rotirea și strângerea celor patru 
șuruburi M5 la pasul 3. 
Când montați pe verticală, rotiți suportul cu 90 de grade în jos 
[Fig 5].
6. Fixați cele două capace ale consolei pe consolă cu ajutorul a 8 
șuruburi cu capul ascuns cu slotul în forma de cruce M3*8 [Fig 6].
7. Conectați cablul în conformitate cu diagrama de cablare [Fig 7]. 
Asigurați-vă că tensiunea de alimentare nu este mai mare decât cea 
necesară, deoarece circuitul corpului de iluminat de grădină este 
proiectat pentru a funcționa tensiuni speciale.
8. Montați lampa stradală pe stâlp și strângeți șuruburile de fixare 
de pe suport folosind cheie hexagonală Nr. 4 [Fig 8].
9. Porniți alimentarea și verificați dacă corpul de iluminat 
funcționează corect [Fig 9].

[PL] WSTĘP I GWARANCJAD
ziękujemy za wybór i zakup produktu V-TAC. V-TAC będzie Ci służył 
najlepiej. Prosze przeczytać tę instrukcje uważnie przed przystąpie-
niem do zainstalowania i zachować ją do użytku w przyszłości. Jeśli 
masz jakieś pytania, proszę skontaktować się z naszym Przedst-
awicielem lub z dystrybutorem, od którego kupiłeś produkt. Oni sa 
przeszkoleni i gotowi udzielić Ci pomocy. Gwarancja ważna jest 5 lata 
od zakupu. Gwarancja nie obejmuje uszkodzeń wynikających z 
niewłaściwego zainstalowania lub nadzwyczajnego zużycia. Spółka nie 
ponosi odpowiedzialności za ewentualne szkody spowodowane na 
powierzchniach podczas instalacji lub deinstalacji. Łączny czas 
świecenia opraw w ciągu doby nie może przekroczyć 10-12 godzin, 
24-godzinna eksploatacja produktu prowadzi do unieważnienia 
gwarancji. Gwarancja obejmuje jedynie wady powstałe z przyczyn 
tkwiących w produkcie.

UWAGA
• WYŁĄCZYĆ zasilanie przed przystąpieniem do instalacji!
• Instalacja powinna być wykonywana wyłącznie przez elektrotechnika 
posiadającego certyfikat.dado!

INSTRUKCJA INSTALACJI
1. Wyłącz zasilanie przed rozpoczęciem montażu [patrz rys. 1].
2. Ustaw wspornik na lampie ogrodowej [patrz rys. 2].
3. Użyj 4 śrub M5*10 z rowkiem krzyżowym i 4 sztuk uszczelek M5 z 
rowkami zewnętrznymi, aby przymocować płytkę wspornika do 
wspornika, ale nie blokuj śrub [patrz rys. 3].
4. Zamontuj kabel do oprawy zgodnie z kątem zgięcia wspornika, 
przepuszczając go przez gwintowany otwór na dolnej części wspornika 
[patrz rys. 4]. 
5. Zabezpiecz wspornik za pomocą 2 szt. śrub M4*6 z łbem cylindryc-
znym z rowkiem krzyżowym z uszczelką i 2 szt. zewnętrznie rowkow-
anych uszczelek M4, aby zapobiec obracaniu się, i dokręcić cztery 
śruby M5 wskazane wyżej w kroku 3. 
W przypadku montażu pionowego obróć wspornik o 90 stopni w dół 
[patrz rysunek 5].
6. Zamocuj obydwie pokrywy konsoli na samej konsoli za pomocą 8 
sztuk śrub M3*8 z ukrytym łbem z rowkiem krzyżowym [patrz rys. 6]. 
7. Podłącz przewód zgodnie ze schematem połączeń [patrz rysunek 
7]. Upewnij się, że napięcie zasilania nie jest wyższe niż wymagane, 
ponieważ obwód oświetlenia ogrodowego jest zaprojektowany do 
obsługi specjalnych napięć. 
8. Zamontuj latarnię na słupie i wspornik za pomocą klucza sześcio-
kątnego nr 4 dokręć śruby mocujące [patrz rys. 8]. 
9. Włącz zasilanie i sprawdź, czy oprawa oświetleniowa działa 
prawidłowo [patrz rys. 9]. 

WATTS INPUT CURRENT INPUT POWER OPERATING 
RANGE

RATED INPUT 
VOLTAGE

POWER FACTOR

60W 68.2WTyp.@220Vac 90-305Vac 120-240Vac
≥0.9@120-240Vac,75%-

100%load(45-60W)

INPUT SURGE 
VOLTAGE

RATED OUTPUT 
POWER

OUTPUT VOLTAGE 
AT NO LOAD

OUTPUT VOLTAGE 
RANGE

RATED OUTPUT 
CURRENT THD

380Vac for 60 
seconds. 60W max. 63V max. 23-46V 1300mA±8% ≤10%@120-240Vac,75%-

100%load(45-60W)

MODEL WATTS LUMENS MATERIAL IK RATING SURGE PROTECTION

VT-895 50W 6750 DIE CAST ALUMINUM IK08 4KV/6KV

PF CRI BEAM ANGLE MOUNTING HEIGHT MOUNTING DIAMETER INPUT POWER

>0.9 >80 TYPE III LENS 2-3 METERS 60mm AC: 100-277V, 50Hz

0.31ATyp.@220 Vac


